restart
EcuaCarac = expand( (m — 2)2- (m—24+3D)-(m—2—31))=0
EcuaCarac :=m' — 8m’ + 33 m* — 68 m~+ 52=0

EcuaDif == y™—8-y"+ 33-y"—68-y'+ 52 y=0
4 3 2

d d d d
EcuaDif := —— —8 — — — 68 — 2y(x) =
cuaDif o y(x)—28 e y(x) + 33 7 y(x) — 68 . y(x) +52y(x)=0
SolGral := dsolve( EcuaDif)
SolGral := y(x) =c,&* + c,&" " x + ¢, e’ "sin(3x) + ¢, ¢ " cos(3 x)

restart
Sistema := 5-D=8,5-B—12-D=0,5-4— 6B+ 2-D=0,—3-E=—6: Sistema[1];
Sistema| 2 |; Sistema| 3 |; Sistema[4 |

5D=8
5B—12D=0
54—6B+2D=0
—3E=—6
with(linalg) :
Para := solve( [ Sistema])
496 96 8
Para = {A— 125 , B= >s , D= 5 ,E=2
SolGral := y(x) =subs(Para, (_CI-exp(x) + C2-exp(5-x) + 4+ B-x + DX’ + E-x
exp(x) ) ) X
o B . sy, 496 96 x 8 x .
SolGral :==y(x)= Cle + C2¢ " + 125 + 25 + 5 +2x¢

Ecua :=y"—6-y'+ 5-y=8-x2—6-exp(x)
2

Ecua := %y(x) —6 iy(x) +5y(x)=8x"—6¢"

dx
Comprobar = simplify(eval(subs(y(x) =rhs(SolGral), lhs (Ecua) — rhs(Ecua) =0)))
Comprobar == —2 ¢ =0
restart

Ecua :=y"—6-y'+ 5-y=8-x2—6-exp(x)
2

d 2 X
Ecua = gy(x) —6 Ey(x) +5y(x)=8x"—6¢

EcuaHom = lhs(Ecua) =0
2

d d
EcuaHom = g y(x)—6 . y(x)+5y(x)=0

Q == rhs(Ecua)
0=8x—6¢
SolGral = y(x) =A-exp(x) + B-exp(5-x)
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SolGral = y(x)=Ae" + Be*

(12)

> Sistema = Aprima-exp(x) + Bprima-exp(5 x) =0, Aprima-exp(x) + 5-Bprima-exp(5-x) =Q

Sistema = Aprima €' + Bprima & *=0, Aprima ¢' + 5 Bprima & *=8x" — 6 ¢'

(> Parametro = solve( [ Sistema])
—4 2 3 X —4 2 3 X
Parametro := { Aprima = #, Bprima = — Lse
2¢ 2 (¢)
(> 4= int(rhs(Parametro[1]),x) + _CI
3x 2% 4x 4

, X=X

4= +—+—+ -+ _CI
2 e e e
(> B = int(rhs(Parametro[2]),x) + _C2
2
B 3 _ 2x i % Lo

8(e)'  5(e) 25(¢) 125(e)
(> SolGral = v(x) =expand(simplify(A-exp(x) + B-exp(5-x)))
C3e¢'x . 8x | 96x | 496 3¢ .

SolGral = y(x) = == + —— + == + o +¢ Cl+ = + (&) 2
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